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NOTE: 
If a candidate answers a question TWICE, mark the FIRST attempt ONLY. 
Consistent accuracy applies in ALL aspects of the marking guideline. 
If a candidate crossed out an attempt of a question and did not redo the question, mark 

the crossed-out attempt. 
The mark for substitution is awarded for substitution into the correct formula. 

 

QUESTION 1 
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answer        (2) 
 

1.2 ܵଶ଴ = 20(20 + 1)(20 + 2) = 9240 ܵଵଽ = 19(19 + 1)(19 + 2) = 7980 ଶܶ଴ = ܵଶ଴ − ܵଵଽ ∴ ଶܶ଴ = 1260 

ܵଶ଴ ܵଵଽ 
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 substitution 
 ܵஶ 
 
 
 
 ܵଷଽ 
 ܵஶ − ܵଷଽ 
 
 
 

answer        (5) 
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He is correct 

 
 
 
 

 eqn (1) and (2) 
 

 substitution 
 
 
 

 comm. diff 
 

 comm. ratio 
 
 

conclusion    (5) 
 

                         (18) 
QUESTION 2 
 
2.1.1 PVSTtheorempropORaofsideonetoLine

PS
QS //;.//|

5
3   S 

 R                 (2) 
  

2.1.2 ݈݁݊݃ℎݐ:ܳܵ = 3ܽ    ܽ݊݀  ܳܲ = 8ܽ 
ܴܳܲ߂ܽ݁ݎܣ  = ଵଶ × ܳܲ × ܴܳ ݊݅ݏ ܳ̂   = ଵଶ × 8ܽ × 11 ݊݅ݏ ܳ̂   = 44ܽ ݊݅ݏ ܴܶܵܲ݀ܽݑݍ݂ܽ݋ܽ݁ݎܣ  ̂ܳ = ܴܳܲ߂݂݋ܽ݁ݎܣ − =  ܶܳܵ߂ܽ݁ݎܣ 44 ݊݅ݏݔ ෠ܳ − 12 × 3ܽ × 3 ݊݅ݏ ෠ܳ     
 = 79ܽ2 ݊݅ݏ ܴܶܵܲ݀ܽݑݍ݂݋ܽ݁ݎܣܴܳܲ߂ܽ݁ݎܣ ̂ܳ = 44ܽ ݊݅ݏ ܳ̂792 ݊݅ݏ ܽ ܳ̂ = 8879                                         

 
 
 
 
 

 area ∆ܴܲܳ 
 area ∆ܵܳܶ 

 
 
 

area of a Quad 
PSTR 
 
 

 ratio 
 
 

 answer        (5) 
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ଵܦ̂ 2.2.1 = ଵܣ̂ = ଷܦ̂݉݁ݎ݋ℎ݁ݐ ݀ݎ݋ℎܿ ݊ܽݐ           ݔ = ଵܣ̂ = .ݐ݈ܣ           ݔ < ;ݏ’ ଷܦ̂ܦܧ//ܤܣ   = ଶܦ̂ = =          ݔ  ܿℎݏ݀ݎ݋ =< >                                   ܴܱ   ݏ’ ݕܾ    ݀݁݀݊݁ݐܾݑݏ  ݏ’ = ܿℎݏ݀ݎ݋
^

         

 
 S & R 
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 S & R           (3) 
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 S &R            

 
 S & R           

 
                       (2)   
       
 

2.2.3 
(a) 

ଵܦ̂ ܥܦܣ߂ ݀݊ܽ ܥܤܦ߂ ݊ܫ = ଶܣ̂   tan ܿℎ݀ݎ݋ ܥ̂ ݉݁ݎ݋ℎ݁ݐ = ݊݋݉݉݋ܿ        ܥ̂ ଶܤ̂ > = ݂݋ ݉ݑݏ      ܥܦ̂ܣ < ∴  ߂ ܽ ݊݅ ݏ′ ܦܣܤܦ  ܣܣܣ        ܥܦܣ߂|||ܥܤܦ߂ = ܥܦܥܤ ∴  ݏ′߂||||         ܥܦ = ܥܤ × ܤܦܦܣ  
 

 
 

S & R 
 
 
 
 ܥܦܣ߂ ||| ܥܤܦ߂ 
 

 prop theorem      
                          (3)  
 

2.2.3 
(b) 

ܤܦ = .ݐܾݑݏ ݏ݀ݎ݋ℎܿ       ܧܣ ݕܾ = <′  ݏ
 proved in 2.2.3 (a)         ܥܤܦ߂||| ܥܦܣ߂ ݐݑܤ 
 
and 
 proved in 2.2.2                ܥܤܦ߂|||ܣܧܦ߂  
  ∴ ܧܦܦܣ  ܥܤܦ߂|||     ℎݐ݋ܾ             ܣܧܦ߂|||ܥܦܣ߂ = ܣܧܥܦ ܣܧ  ݏ′߂||||                               = ܥܦ × ܦܣܧܦ  
 

 S & R  
 
 
 
 
 
 
 
      ܣܧܦ߂|||ܥܦܣ߂ 
    
 

 prop theorem      
                          (3)  
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ܣܧ  2.2.4 = ൬ܥܤ × ܤܦܦܣ ൰ ൬ܦܣܧܦ൰  ܣܧ = ܥܤ × ܣܧܧܦ ܤܦ ݁ܿ݊݅ݏ               = ଶܣܧ  ܣܧ = ܥܤ ×  ܧܦ

 
 substitution     

 
 
 

 EA                (2) 
 
                                

                          (20) 
QUESTION 3 
 
3.1.1 

13
5cos

13r
 

 
 

answer           (1)   
 

∘180)݊ܽݐ 3.1.2 − = (ߙ − ݊ܽݐ = ߙ −൬−12−5 ൰ = − 125  

 
݊ܽݐ−  ∝ 

 
 

answer           (2) 
 
 

3.2 
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tan
cos
sin

cos.cos
sin.sin

)90sin(.)360cos(
)90cos(.)180sin(

 

 
 − − ݔݏ݋ܿ  ݔݏ݋ܿ  ݔ݊݅ݏ ݔ݊݅ݏ ௦௜௡మ௫௖௢௦మ௫ −݊ܽݐଶ(6)         ݔ 
 

3.3 sin(ܣ + (ܤ = cos (90° − ܣ) +  ((ܤ
               = cos((90° − (ܣ −  ((ܤ
               = cos(90 ° − (ܤ) cos(ܣ + sin (90° −  (ܤ) sin(ܣ
               = ܤݏ݋ܿܣ݊݅ݏ +  ܤ݊݅ݏܣݏ݋ܿ

correct co-
function 

regrouping 
simplification  

                          (3) 
                          (12) 

 
 TOTAL                    [50] 
   

 

 

 

 


